
GRIDIRON CTS

GRIDIRON CTS
info@gridironcts.com



Installation 

1. Using the backing plate as a pattern, drill 
two holes in the rear of the mower frame. 
 
1. Mark the center of the backing plate. 
2. Mark the center of the mower frame at the 

lower edge. 
3. Fit the backing plate to the inside of the 

mower frame and note its vertical position 
relative to the lower edge of the frame. 

4. Clamp the backing plate to the outside of 
the mower frame, in the same vertical 
position as noted, aligning the center 
marks.  Be sure it is level. 

5. Protect the drive belts by clamping a 
metal bar to the inside of the frame with a 
1/4" spacer to allow clearance for the drill. 

6. Drill two 25/64" holes in the mower frame 
through the backing plate holes. 

7. Remove the backing plate. 
 
2. Bolt the backing plate and mounting 
bracket on opposite sides of the frame. 
 
1. Place the backing plate inside the mower 

frame and insert a mounting bolt through 
backing plate and frame.   

2. Place the mounting bracket on the bolt and 
follow with a flat washer, lock washer and 
nut. 

3. Insert the other mounting bolt, washers, 
and nut in the same manner and tighten 
both. 

 
3. Insert the connecting pin. 
 
1 Push the pin through the mounting bracket 

while holding the GOSlide in place. 
2 Insert the hairpin cotters to retain the 

mounting pin. 
 
Important Notes: 
 
Not all mowers require the use of the 102027 
backing plate. Mowers with short U-shaped rear 
frames have sufficient strength and do not 
require the backing plate.  Use the backing 
plate on all mowers with adequate clearance. 
 
· Ferris- Not recommended for use with single 
drive hydrostatic mowers.  Installation on Ferris 
belt drive mowers requires adapter 102420. 
· Kees hydro- The metal belt guard must be 
remounted after installation. 

Use and Maintenance 

• When not in use, the GOSlide can be 
lifted up and chained to the mower. Se-
cure chain to mower frame above the 
GOSlide and use the chain clip to hold 
the GOSlide up as shown below. Adjust 
the chain so that the GOSlide is pulled up 
far enough to allow the mower to be used 
normally. 

# Part # Description Qty # Part # Description Qty 

1 102403  Deck, Go Slide 1 10 102065 Washer, lock 3/8” zinc 2 

2 102401 Wear Plate, Go Slide 1 11 102057 Nut, 3/8-16 zinc 2 

3 102396 Bracket, Go Slide Deck 1 12 102108 Screw, 1/4-20x 3/4 FH phillips zinc 6 

4 102395  Arm, Go Slide 1 13 102063 Washer, lock 1/4” zinc 11 

5 102394 Bracket, Go Slide Mount 1 14 102059 Nut, 1/4-20 zinc 11 

6 102027 Bracket, Backing Plate 1 15 ST1167 Screw, 1/4-20 x 1 HH Zinc 5 

7 102398 Pin, Go Slide  2 16 102060 Washer, flat 1/4” zinc 4 

8 102055 Screw, 3/8-16 x 1-1/4 HH zinc 2 17 102042 Pin, Hitch clip 2-5/8 long 4 

9 102062 Washer, flat 3/8” zinc 2     



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


